2010-2011 7TH GRADE CONTEST SOLUTIONS Answers
25. Joy walks 60 m in 180 sec., so she walks 1 m in 25.
3 secs. She slides 9 times faster, so she slides 9 m
in 3 secs. Thus, she slides 90 m in 30 seconds. A
A) 90m B) 180m C) 270m D) 810m
2 4.1 1 ,..1 1 ,..1 26.
26. If3x#1sE,then3x#1s4.Thus,6><#158. .
1 2 3 4
A) 3 B) 5 Q) m D) s
27. 4 hrs. = 240 mins. = 14400 secs.; 4 hrs. is (14400+24)x100% = 60000%. | 27.
A) 600% B) 3600% C) 60 000% D) 360 000% C
28. Let Cal’s height be 100 units. Then Bo’s height is 75 units and Abe’s | 28.
height is 105 units. Abe’s height is 105 percent of Cal’s height. D
A) 25% B) 85% C) 95% D) 105%
29. 18180 = 2180 x (32)180 = 2180 x 3360, and 123%0 is divisible by 3%¢C. 29.
A) 12120 B) 12180 C) 1229 D) 12360 D
30. Each of the 51 even integers between 19 and 121 is 1 less than each of | 30.
the 51 odd integers between 20 and 122. Their sums differ by 51. B

A1 B) 51 C) 100 D) 101

31.

Since 30 = 5x6, 70 = 5x14, and 84 = 6x14, the box’s
dimensions are 5, 6, and 14. The volume is 5xX6x14.

A) 184 B) 368 C) 420 D) 176400

32.

The consecutive even integers are shown for A, B, D.
A) -2,0,2,4 B) 0,2,46 C) 16 D) 2,4,6,8

33.

If the product is divided by 210, the remainder is 0
since 210 = 2x3x5x7 = product of the first 4 primes.

A) 0 B) 3 Q7 D2

34.

We'll use ROY G BIV. With R or G, Amy can pick 6 pairs: OY, Ol
OV, YL, YV, or IV. That's 12 so far. Without R or G, Amy can pick OYI,
OYV, OIV, and YIV. In all, Amy can pick 16 color combinations.

A) 10 B) 16 C) 20 D) 24

34.

35.

The sum of the lengths of the two other sides is greater than 9. The
perimeter is greater than 9+9 = 18. Only choice D is greater than 18.

A) 11 B) 16 C) 18 D) 38

35.
D

The end of the contest E:‘ 7
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Contest Information

m  Solutions Turn the page for detailed contest solutions (written in the

question boxes) and letter answers (written in the Answer Column to
the right of each question).

fcore's Please remember that this is a contest, and not a test—there is no
palssmg or “failing” score. Few students score as high as 28 points
(80% correct); students with half that, 14 points, deserve commendation!

Answers and Rating Scales Turn to page 142 for the letter answers
to each question and the rating scale for this contest.

Copyright © 2011 by Mathematics Leagues Inc.
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